## COINCIDENCE AND FIXED POINT THEOREMS IN METRIC AND BANACH SPACES

## ZEQING LIU, JEONG SHEOK UME, and MOHAMMAD S. KHAN

(Received 7 August 2000)

ABSTRACT. We prove some coincidence and fixed point theorems for generalized  $(\phi, f)$ contractive type and f-nonexpansive type multivalued and singlevalued mappings in metric and Banach spaces, respectively. Our results extend, improve, and unify a few known results due to Browder, Browder and Petryshyn, Chang, Huang, and Cho, Husain and Latif, Husain and Tarafdar, and Karlovitz.

2000 Mathematics Subject Classification. 54H25, 47H10.

**1. Introduction.** Husain and Latif [5, 6, 7] introduced the notions of f-contractive type and f-nonexpansive type multivalued mappings and proved fixed point theorems for the mappings in metric and Banach spaces, respectively. Chang, Huang, and Cho [4] introduced the concept of generalized f-contractive type multivalued mappings in metric spaces and established a coincidence point theorem for generalized f-contractive type multivalued mappings.

Motivated and inspired by the above works, we introduce a concept of generalized ( $\phi$ , f)-contractive type multivalued mappings which contains the concepts of fcontractive type multivalued mappings and generalized f-contractive type multivalued mappings as special cases, and we prove three coincidence and fixed point theorems for such mappings which extend and improve the main results of Chang, Huang, and Cho [4], Husain and Latif [6, 7], and others. On the other hand, we study the existence of common fixed points of f-nonexpansive type multivalued mappings which generalizes the main results of Husain and Latif [5, 6, 7] and contains some results due to Browder [1], Browder and Petryshyn [2], Husain and Tarafdar [8], and Karlovitz [9] as particular cases.

**2. Preliminaries.** Throughout this paper, we denote by  $\mathbb{R}, \mathbb{R}^+, \mathbb{N}$  the set of real numbers, the set of nonnegative real numbers, and the set of positive integers, respectively. Let  $\Phi$  be the family of mappings  $\phi : (\mathbb{R}^+)^5 \to \mathbb{R}^+$  such that each  $\phi$  is nondecreasing for each variable and

$$\psi(t) \ge \max\{\phi(t, t, t, at, bt) : a, b \in \{0, 1, 2\}\}, \quad \forall t \in \mathbb{R}^+,$$
(2.1)

where  $\psi : \mathbb{R}^+ \to \mathbb{R}^+$  is nondecreasing, right continuous,  $\sum_{n=1}^{\infty} \psi^n(t) < \infty$  for all  $t \in \mathbb{R}^+$ and  $\lim_{n\to\infty} (t_n - \psi(t_n)) = 0$  implies that  $\lim_{n\to\infty} t_n = 0$  for any  $\{t_n\}_{n\in\mathbb{N}} \subset \mathbb{R}^+$ .

**LEMMA 2.1** (see [3]). Let  $h : \mathbb{R}^+ \to \mathbb{R}^+$  be nondecreasing, right continuous, and  $\lim_{n\to\infty} h^n(t) = 0$  for all  $t \in \mathbb{R}^+$ . Then

- (i) h(t) < t for all t > 0;
- (ii) t = 0 provided that  $t \le h(t)$  for some  $t \in \mathbb{R}^+$ .

**LEMMA 2.2.** Let  $\{a_n\}_{n\in\mathbb{N}}$  and  $\{b_n\}_{n\in\mathbb{N}}$  be in  $\mathbb{R}^+$  and  $\lim_{n\to\infty} a_n = 0$ . Then

$$\limsup_{n \to \infty} (a_n + b_n) = \limsup_{n \to \infty} b_n.$$
(2.2)

**PROOF.** Note that

$$\limsup_{n \to \infty} b_n \le \limsup_{n \to \infty} (a_n + b_n) \le \limsup_{n \to \infty} a_n + \limsup_{n \to \infty} b_n = \limsup_{n \to \infty} b_n,$$
(2.3)

which implies that (2.2) holds. This completes the proof.

**LEMMA 2.3.** Let  $\{a_n\}_{n \in \mathbb{N}}$  be a sequence in  $\mathbb{R}^+$  and  $h : \mathbb{R}^+ \to \mathbb{R}^+$  be nondecreasing and right continuous. Then

$$\limsup_{n \to \infty} h(a_n) \le h\Big(\limsup_{n \to \infty} a_n\Big). \tag{2.4}$$

**PROOF.** Set  $\limsup_{n\to\infty} h(a_n) = a$ . It follows that there exists a subsequence  $\{a_{n_i}\}_{i\in\mathbb{N}}$  of  $\{a_n\}_{n\in\mathbb{N}}$  with  $\lim_{i\to\infty} h(a_{n_i}) = a$ . Put  $\limsup_{i\to\infty} a_{n_i} = b$ . Then there exists a subsequence  $\{a_{n_{i_j}}\}_{j\in\mathbb{N}}$  of  $\{a_n\}_{i\in\mathbb{N}}$  such that  $\lim_{j\to\infty} a_{n_{i_j}} = b$ . Observe that each sequence in  $\mathbb{R}$  contains a monotone subsequence. Thus  $\{a_{n_{i_j}}\}_{j\in\mathbb{N}}$  contains a monotone subsequence  $\{a_{n_{i_{jk}}}\}_{k\in\mathbb{N}}$ . If  $\{a_{n_{i_{jk}}}\}_{k\in\mathbb{N}}$  is nondecreasing, then  $h(a_{n_{i_{jk}}}) \leq h(b)$  for any  $k \in \mathbb{N}$ . This means that

$$\lim_{k \to \infty} h\left(a_{n_{i_{jk}}}\right) \le h(b). \tag{2.5}$$

If  $\{a_{n_{i_{i_k}}}\}_{k\in\mathbb{N}}$  is nonincreasing, by the right continuity of *h*, we obtain that

$$\lim_{k \to \infty} h\left(a_{n_{i_{jk}}}\right) = h\left(\lim_{k \to \infty} a_{n_{i_{jk}}}\right) = h(b).$$
(2.6)

Using (2.5) and (2.6), we have

$$a \le h(b) \le h\left(\limsup_{n \to \infty} a_n\right). \tag{2.7}$$

That is, (2.4) holds. This completes the proof.

Let (X, d) be a metric space and M a nonempty subset of X. Define

 $2^M = \{A : A \text{ is nonempty subset of } M\},\$ 

$$CL(M) = \{A : A \text{ is nonempty closed subset of } M\},$$
(2.8)

 $CB(M) = \{A : A \text{ is nonempty closed bounded subset of } M\},\$ 

$$C(M) = \{A : A \text{ is nonempty compact subset of } M\}.$$

Let *H* denote the Hausdorff metric on CB(X) induced by *d*. That is,

$$H(A,B) = \max\left\{\sup_{x \in A} d(x,B), \sup_{x \in B} d(x,A)\right\}, \quad \forall A, B \in \operatorname{CB}(X),$$
(2.9)

where  $d(x,A) = \inf\{d(x,y) : y \in A\}.$ 

332

**DEFINITION 2.4.** Let r be in [0,1),  $\phi \in \Phi$ , and let  $J : M \to 2^X$  and  $f : M \to X$  be multivalued and singlevalued mappings, respectively.

(i) *J* is said to be a generalized  $(\phi, f)$ -contractive type multivalued mapping if, for all  $x \in M$  and for each  $u_x \in Jx$ , there exists  $v_y \in Jy$  for all  $y \in M$  satisfying

$$d(u_x, v_y) \le \phi \Big( d(fx, fy), d(fx, u_x), d(fy, v_y), d(fx, v_y), d(fy, u_x) \Big).$$
(2.10)

(ii) *J* is said to be a generalized *f*-contractive type multivalued mapping if, for all  $x \in M$  and for each  $u_x \in Jx$ , there exists  $v_y \in Jy$  for all  $y \in M$  satisfying

$$d(u_{x}, v_{y}) \leq r \max\left(d(fx, fy), d(fx, u_{x}), d(fy, v_{y}), \frac{1}{2} \left[d(fx, v_{y}) + d(fy, u_{x})\right]\right).$$
(2.11)

(iii) *J* is said to be an *f*-contractive type multivalued mapping if, for all  $x \in M$  and for each  $u_x \in Jx$ , there exists  $v_y \in Jy$  for all  $y \in M$  satisfying

$$d(u_x, v_y) \le r d(fx, fy). \tag{2.12}$$

(iv) *J* is said to be an *f*-nonexpansive type multivalued mapping if, for all  $x \in M$  and for each  $u_x \in Jx$ , there exists  $v_y \in Jy$  for all  $y \in M$  satisfying

$$d(u_x, v_y) \le d(fx, fy). \tag{2.13}$$

Clearly, each *f*-contractive type multivalued mapping is both *f*-nonexpansive type multivalued mapping and generalized *f*-contractive type multivalued mapping, and each generalized *f*-contractive type multivalued mapping is a generalized ( $\phi$ , *f*)-contractive type multivalued mapping.

**3.** Coincidence and fixed points of generalized  $(\phi, f)$ -contractive type multivalued mappings. In this section, we establish three coincidence and fixed point theorems for generalized  $(\phi, f)$ -contractive type multivalued mappings in complete metric space.

**THEOREM 3.1.** Let M be a nonempty closed subset of a complete metric space (X,d), and let  $f: M \to M$  be a singlevalued mapping, and  $J: M \to CL(M)$  a generalized  $(\phi, f)$ -contractive type multivalued mapping. Suppose that fM = M. Then f and J have a coincidence point in M.

**PROOF.** Let  $x_0$  be an arbitrary but fixed element of M and choose  $y_1 \in Jx_0$ . It follows from M = fM that there exists  $x_1 \in M$  with  $y_1 = fx_1$ . Since J is a generalized  $(\phi, f)$ -contractive type multivalued mapping and M = fM, we can choose  $y_2 \in Jx_1$  and  $x_2 \in M$  such that

$$d(y_1, y_2) \le \phi \left( d(fx_0, fx_1), d(fx_0, y_1), d(fx_1, y_2), d(fx_0, y_2), d(fx_1, y_1) \right)$$
(3.1)

and  $y_2 = fx_2$ . Inductively, we can extract a sequence  $\{fx_n\}_{n \in \mathbb{N}} \subset M$  such that  $fx_{n+1}$ 

is in  $Jx_n$  and

$$d_{n} \leq \phi \Big( d_{n-1}, d_{n-1}, d_{n}, d(fx_{n-1}, fx_{n+1}), d(fx_{n}, fx_{n}) \Big) \\\leq \phi (d_{n-1}, d_{n-1}, d_{n}, d_{n-1} + d_{n}, 0),$$
(3.2)

where  $d_n = d(fx_n, fx_{n+1})$  for all  $n \ge 0$ . We claim that

$$d_n \le d_{n-1}, \quad \forall n \in \mathbb{N}. \tag{3.3}$$

Suppose that  $d_n > d_{n-1}$  for some  $n \in \mathbb{N}$ . Thus (3.2) ensures that  $d_n \le \psi(d_n)$ . It follows from Lemma 2.1 that  $d_n = 0$ , which is a contradiction. Therefore (3.3) holds. In view of (3.2) and (3.3), we have

$$d_n \le \psi(d_{n-1}) \le \dots \le \psi^n(d_0), \quad \forall n \in \mathbb{N}.$$
(3.4)

Thus for all  $n, p \in \mathbb{N}$ , we conclude that

$$d(fx_n, fx_{n+p}) \le \sum_{i=n}^{n+p-1} d_i \le \sum_{i=n}^{n+p-1} \psi^i(d_0).$$
(3.5)

Note that  $\sum_{n=1}^{\infty} \psi^n(d_0) < \infty$ . It follows from (3.5) that  $\{fx_n\}_{n\in\mathbb{N}}$  is a Cauchy sequence in the closed set M. Since X is complete, there exists  $z \in M$  such that  $\lim_{n\to\infty} fx_n = z$ . Observe that fM = M. Hence there exists  $q \in M$  with fq = z. From  $fx_{n+1} \in Jx_n$ , fM = M, and (2.10), we can choose that  $fv_n \in Jq$  satisfying

$$d(fx_{n+1}, fv_n) \leq \phi \Big( d(fx_n, fq), d(fx_n, fx_{n+1}), d(fq, fv_n), d(fx_n, fv_n), d(fq, fx_{n+1}) \Big) \leq \psi \Big( \max \Big\{ d(fx_n, fq), d(fx_n, fx_{n+1}), d(fq, fv_n), d(fx_n, fv_n), d(fq, fx_{n+1}) \Big\} \Big).$$
(3.6)

It is easy to see that there exists an increasing sequence  $\{n_i\}_{i \in \mathbb{N}} \subset \mathbb{N}$  such that at least one of (3.7), (3.8), and (3.9) holds,

$$d(fx_{n_i+1}, fv_{n_i}) \le \psi\left(\max\left\{d(fx_{n_i}, fq), d(fx_{n_i}, fx_{n_i+1}), d(fq, fv_{n_i})\right\}\right), \quad \forall i \in \mathbb{N};$$
(3.7)

$$d(fx_{n_i+1}, fv_{n_i}) \le \psi(d(fx_{n_i}, fv_{n_i})), \quad \forall i \in \mathbb{N};$$
(3.8)

$$d(fx_{n_i+1}, fv_{n_i}) \le \psi(d(fq, fx_{n_i+1})), \quad \forall i \in \mathbb{N}.$$
(3.9)

We now prove that

$$\lim_{i \to \infty} d(fq, f\nu_{n_i}) = 0.$$
(3.10)

Suppose that (3.7) is satisfied. If  $\lim_{i\to\infty} d(fq, f\nu_{n_i}) \neq 0$ , then there exist  $\varepsilon > 0$  and a subsequence  $\{\nu_{n_i}\}_{J\in\mathbb{N}}$  of  $\{\nu_{n_i}\}_{i\in\mathbb{N}}$  such that  $d(fq, f\nu_{n_{ij}}) \geq \varepsilon$  for all  $j \in \mathbb{N}$ . Note that

334

 $\lim_{n\to\infty} fx_n = fq$  and  $\lim_{n\to\infty} d(fx_n, fx_{n+1}) = 0$ . Thus there exists  $k \in \mathbb{N}$  satisfying  $\max\{d(fx_{n_{i_i}}, fq), (fx_{n_{i_i}}, fx_{n_{i_i}+1})\} < \varepsilon$  for all  $j \ge k$ . Using (3.7), we have

$$\begin{aligned} d(fq, fv_{n_{i_j}}) &\leq d(fq, fx_{n_{i_j}+1}) + d(fx_{n_{i_j}+1}, fv_{n_{i_j}}) \\ &\leq d(fq, fx_{n_{i_j}+1}) \\ &+ \psi \left( \max \left\{ d(fx_{n_{i_j}}, fq), d(fx_{n_{i_j}}, fx_{n_{i_j}+1}), d(fq, fv_{n_{i_j}}) \right\} \right) \\ &\leq d(fq, fx_{n_{i_j}+1}) + \psi \left( \max \left\{ \varepsilon, \varepsilon, d(fq, fv_{n_{i_j}}) \right\} \right) \\ &\leq d(fq, fx_{n_{i_j}+1}) + \psi \left( d(fq, fv_{n_{i_j}}) \right), \end{aligned}$$
(3.11)

for all  $j \ge k$ . Equation (3.11) ensures that

$$d(fq, fv_{n_{i_j}}) - \psi(d(fq, fv_{n_{i_j}})) \le d(fq, fx_{n_{i_j}+1}) \longrightarrow 0 \quad \text{as } j \longrightarrow \infty,$$
(3.12)

which implies that  $\lim_{j\to\infty} d(fq, f\nu_{n_{i_j}}) = 0$ . This is a contradiction. Consequently, (3.10) holds.

Suppose that (3.8) is fulfilled. In view of (3.8), we obtain that for all  $i \in \mathbb{N}$ ,

$$d(fq, fv_{n_i}) \leq d(fq, fx_{n_i+1}) + d(fx_{n_i+1}, fv_{n_i})$$
  
$$\leq d(fq, fx_{n_i+1}) + \psi \Big( d(fx_{n_i}, fv_{n_i}) \Big)$$
  
$$\leq d(fq, fx_{n_i+1}) + \psi \Big( d(fx_{n_i}, fq) + d(fq, fv_{n_i}) \Big).$$
(3.13)

By virtue of (3.13) and Lemmas 2.2 and 2.3, we conclude that

$$\begin{split} \limsup_{i \to \infty} d(fq, f\nu_{n_{i}}) &\leq \limsup_{i \to \infty} \left[ d(fq, fx_{n_{i}+1}) + \psi \left( d(fx_{n_{i}}, fq) + d(fq, f\nu_{n_{i}}) \right) \right] \\ &= \limsup_{i \to \infty} \psi \left( d(fx_{n_{i}}, fq) + d(fq, f\nu_{n_{i}}) \right) \\ &\leq \psi \left( \limsup_{i \to \infty} \left[ d(fx_{n_{i}}, fq) + d(fq, f\nu_{n_{i}}) \right] \right) \\ &= \psi \left( \limsup_{i \to \infty} d(fq, f\nu_{n_{i}}) \right). \end{split}$$
(3.14)

Using (3.14) and Lemma 2.1, we get that  $\limsup_{i\to\infty} d(fq, f\nu_{n_i}) = 0$ . It is easy to see that (3.10) holds.

Suppose that (3.9) is satisfied. Then

$$d(fq, f\nu_{n_{i}}) \leq d(fq, fx_{n_{i}+1}) + d(fx_{n_{i}+1}, f\nu_{n_{i}})$$
  
$$\leq d(fq, fx_{n_{i}+1}) + \psi(d(fq, fx_{n_{i}+1})) \longrightarrow 0 \quad \text{as } i \longrightarrow \infty.$$

$$(3.15)$$

That is, (3.10) holds.

Since Jq is closed and  $\{fv_{n_i}\}_{i\in\mathbb{N}} \subset Jq$ , by (3.10) we conclude immediately that fq belongs to Jq. This completes the proof.

Taking  $\phi(u, v, w, x, y) = r \max\{u, v, w, (1/2)(x + y)\}$  in Theorem 3.1, we have the following corollary.

**COROLLARY 3.2** (see [4, Theorem 2.1]). Let M be a nonempty closed subset of a complete metric space (X,d),  $f: M \to M$  a singlevalued mapping, and  $J: M \to CL(M)$  a generalized f-contractive type multivalued mapping. Suppose that fM = M. Then f and J have a coincidence point in M.

**REMARK 3.3.** Theorem 2.2 of [4] and Theorem 2.3 of [6] are special cases of Theorem 3.1.

To see that the closedness of M in the hypothesis of Theorem 3.1 is essential, we need the following example.

**EXAMPLE 3.4.** Let  $X = \mathbb{R}$  with the usual metric. Take M = (0, 1),  $Jx = \{(1/4)(1 - x^4)\}$ , and  $fx = 1 - x^2$  for all  $x \in M$ . Obviously,  $|Jx - Jy| \le (1/2)|fx - fy|$  for all  $x, y \in M$ . The requirements of Theorem 3.1 are satisfied except that M is closed. But f and J have no coincidence point in M.

The following example reveals that the condition of fM = M in Theorem 3.1 is necessary.

**EXAMPLE 3.5.** Let  $X = \mathbb{R}$  with the usual metric and M = [0, 1]. Define  $Jx = \{(1/6)x^2\}$  and fx = 1 - (1/2)x for all  $x, y \in M$ . Then  $|Jx - Jy| \le (2/3)|fx - fy|$  for all  $x, y \in M$ . It is easy to see that the hypotheses of Theorem 3.1 are satisfied except fM = M. However, f and J have no coincidence point in M.

**THEOREM 3.6.** Let M be a nonempty closed subset of a complete metric space (X, d), and let  $f : M \to M$  a singlevalued mapping and  $J : M \to CL(M)$  a generalized  $(\phi, f)$ -contractive type multivalued mapping. If f is continuous,  $JM \subseteq fM$ , and  $fJx \subseteq Jfx$  for all  $x \in M$ , then f and J have a coincidence point in M.

**PROOF.** Let  $\{fx_n\}_{n\in\mathbb{N}}$  and z be as in the proof of Theorem 3.1. Put  $u_n = fx_n$  for all  $n \in \mathbb{N}$ . Since  $\lim_{n\to\infty} fx_n = z \in M$  and f is continuous in M, so that  $fu_n = ffx_n \to fz$  as  $n \to \infty$ . From  $u_n \in Jx_{n-1}$ , we have  $fu_n \in fJx_{n-1} \subseteq Jfx_{n-1} = Ju_{n-1}$ . It follows from (2.10) that there exists  $v_n \in Jz$  satisfying

$$d(fu_{n},v_{n}) \leq \phi \Big( d(fu_{n-1},fz), d(fu_{n-1},fu_{n}), d(fz,v_{n}), d(fu_{n-1},v_{n}), d(fz,fu_{n}) \Big).$$
(3.16)

As in the proof of Theorem 3.1, we conclude that there exists a subsequence  $\{u_{n_i}\}_{i \in \mathbb{N}}$  of  $\{u_n\}_{n \in \mathbb{N}}$  such that  $\lim_{i \to \infty} u_{n_i} = fz$  and  $fz \in Jz$ . This completes the proof.  $\Box$ 

**REMARK 3.7.** In case  $f = i_X$  (the identity mapping on *X*), Theorem 3.6 reduces to a result which extends and improves Theorem 2.3 of [6].

**THEOREM 3.8.** Let *X*, *M*, *f*, and *J* be as in Theorem 3.6. Suppose that for all  $x \in M$ , the following condition is fulfilled:

$$fx \in Jx \text{ implies } \lim_{n \to \infty} f^n x \text{ exists.}$$
 (3.17)

Then f and J have a common fixed point in M.

**PROOF.** Theorem 3.6 ensures that there exists  $z \in X$  such that  $fz \in Jz$ . Set  $f^n z = a_n$  for all  $n \in \mathbb{N}$ . Equation (3.17) and the closedness of M means that there exists  $t \in M$  such that  $a_n \to t$  as  $n \to \infty$ . Since f is continuous,  $fa_n = f^{n+1}z \to t = ft$  as  $n \to \infty$ . Observe that

$$a_n = f^n z = f^{n-1} f z \in f^{n-1} J z \subseteq J f^{n-1} z = J a_{n-1}, \quad \forall n \in \mathbb{N}.$$
 (3.18)

It follows from (2.10) that there exists  $b_n \in Jt$  satisfying

$$d(a_{n},b_{n}) \leq \phi \Big( d(fa_{n-1},ft), d(fa_{n-1},a_{n}), d(ft,b_{n}), d(fa_{n-1},b_{n}), d(ft,a_{n}) \Big) \\ \leq \phi \Big( d(a_{n},t), 0, d(t,b_{n}), d(a_{n},t) + d(t,b_{n}), d(t,a_{n}) \Big) \\ \leq \psi \Big( d(a_{n},t) + d(t,b_{n}) \Big),$$
(3.19)

which implies that

$$d(t,b_n) \le d(t,a_n) + d(a_n,b_n) \le d(t,a_n) + \psi \Big( d(a_n,t) + d(t,b_n) \Big).$$
(3.20)

Put *S* =  $\limsup_{n\to\infty} d(b_n, t)$ . Using (3.20) and Lemmas 2.2 and 2.3, we obtain that

$$S \leq \limsup_{n \to \infty} d(a_n, t) + \limsup_{n \to \infty} \psi \left( d(a_n, t) + d(b_n, t) \right)$$
  
$$\leq \psi \left( \limsup_{n \to \infty} d(a_n, t) + \limsup_{n \to \infty} d(b_n, t) \right) = \psi(S).$$
(3.21)

Lemma 2.1 implies that S = 0. Therefore  $b_n \to t$  as  $n \to \infty$ . Since Jt is closed and  $\{b_n\}_{n \in \mathbb{N}} \subset Jt$ , we conclude that t belongs to Jt. This completes the proof.

Husain and Latif [5] and Kaneko and Sessa [9] proved the following results, respectively.

**THEOREM 3.9** (see [5, Theorem 2.2]). Let M be a nonempty closed subset of a complete metric space (X,d) and f a continuous mapping of M into itself. Suppose  $J : M \rightarrow CL(M)$  is an f-contractive type multivalued mapping such that Jf = fJ and  $JM \subseteq fM$ . Moreover, assume that one of (3.17) and (3.22) holds for all  $x \in M$ , where

$$fx \neq f^2 x \text{ implies } fx \notin Jx.$$
 (3.22)

Then f and J have a common fixed point in M.

**THEOREM 3.10** (see [9, Theorem 3]). Let (X, d) be a complete metric space, and let  $f : X \to X$  and  $J : X \to CB(X)$  be compatible continuous mappings such that  $JX \subseteq fX$  and

$$H(Jx, Jy) \le r \max \left\{ d(fx, fy), d(fx, Jx), d(fy, Jy), \frac{1}{2} [d(fx, Jy) + d(fy, Jx)] \right\},$$
(3.23)

for any  $x, y \in X$ , where  $0 \le r < 1$ . Assume also that for each  $x \in X$  either (3.17) or (3.22) holds. Then f and T have a common fixed point in X.

**REMARK 3.11.** Note that (3.22) is equivalent to the following

$$fx \in Jx$$
 implies  $fx = f^2x$ . (3.24)

It is easy to see that (3.22) implies (3.17). Therefore (3.22) in Theorems 3.9 and 3.10 is superfluous. Thus Theorem 2.2 of [5] is a special case of Theorem 3.8.

**REMARK 3.12.** It follows from [5, Theorem 4.2, Condition (A)] that for any two mappings  $J_i$ ,  $J_j$  and any  $x \in M$ ,  $J_i x \subseteq J_j x$ , and  $J_j x \subseteq J_i x$ . That is,  $J_i x = J_j x$  for all  $x \in M$ , and  $i, j \in \mathbb{N}$ . Thus [5, Theorem 4.2] is the same as [5, Theorem 2.2].

**4.** Fixed points of *f*-nonexpansive type multivalued mappings. In this section, we establish a common fixed point theorem for *f*-nonexpansive type multivalued mappings in nonempty convex weakly compact subsets of a Banach space under certain conditions.

A Banach space  $(X, \|\cdot\|)$  is said to satisfy Opial's condition [11] if for each  $x \in X$  and each sequence  $\{x_n\}_{n \in \mathbb{N}}$  weakly converging to x,

$$\liminf_{n \to \infty} ||x_n - y|| > \liminf_{n \to \infty} ||x_n - x||, \quad \forall y \neq x.$$
(4.1)

**THEOREM 4.1.** Let M be a nonempty weakly compact convex subset of a Banach space X which satisfies Opial's condition. Suppose that f is a continuous affine mapping of M into itself and  $J: M \to C(M)$  is an f-nonexpansive type multivalued mapping satisfying

$$JM \subseteq fM, \tag{4.2}$$

$$fJx \subseteq Jfx, \quad \forall x \in M.$$
 (4.3)

Then f and J have a common fixed point in M.

**PROOF.** We may, without loss of generality, assume that  $0 \in M$ . For each sequence  $\{h_n\}_{n \in \mathbb{N}}$  with  $h_n \in (0,1)$  and  $\lim_{n \to \infty} h_n = 1$ , we define  $J_n x = \{h_n u : u \in Jx\}$  for  $x \in M$ . It follows from (4.3) that

$$J_n f x \supseteq \{h_n u : u \in f J x\} = \{f t : t \in h_n J x\} = f J_n x.$$

$$(4.4)$$

As in the proof of Theorem 3.1 in [6], we conclude that  $J_n : M \to CL(M)$  is an fcontractive type multivalued mapping and  $J_nM \subseteq fM$  for all  $n \in \mathbb{N}$ . Let  $k \in \mathbb{N}$ . We show that if fx is in  $J_kx$ , then  $\lim_{n\to\infty} f^nx$  exists. Assume that  $fx \in J_kx = h_kJx$ . Then there exists  $u_1 \in Jx$  with  $fx = h_ku_1$ . This implies that  $fu_1 \in fJx \subseteq Jfx = Jh_ku_1 = h_kJu_1$ and  $fu_1 = h_ku_2$  for some  $u_2 \in Ju_1$ . Consequently,  $f^2x = fh_ku_1 = h_kfu_1 = h_k^2u_2$ . Using (4.3), we can construct a sequence  $\{u_n\}_{n\in\mathbb{N}} \subseteq M$  with  $u_{n+1} \in Ju_n$  and  $fu_n = h_ku_{n+1}$  for all  $n \ge 0$ , where  $u_0 = x$ . It is clear that

$$f^{n}x = f^{n-1}fx = f^{n-1}h_{k}u_{1} = f^{n-2}h_{k}^{2}u_{2} = \dots = h_{k}^{n}u_{n}, \quad \forall n \in \mathbb{N}.$$
(4.5)

Since *M* is bounded and  $\{u_n\}_{n\in\mathbb{N}} \subseteq M$ , it follows that  $\{\|u_n\|\}_{n\in\mathbb{N}}$  is bounded. Hence  $\|f^n x\| = h_k^n \|u_n\| \to 0$  as  $n \to \infty$ . In view of Theorem 3.8, we obtain that *f* and  $J_n$  have a common fixed point in *M*. The remaining part of the proof is as in Theorem 3.1 of [6]. This completes the proof.

As a consequence of Theorem 4.1, we have the following corollary.

**COROLLARY 4.2** (see [6, Theorem 3.1]). Let M, X, f, J be as in Theorem 4.1. Suppose that f and J satisfy (4.2) and the following relations:

$$fJx = Jfx, \quad \forall x \in M;$$
  
$$fx \neq f^2x \text{ implies } tfx \notin Jx, \quad \forall x \in M, t \ge 1.$$
(4.6)

Then f and J have a common fixed point in M.

**REMARK 4.3.** Theorem 4.1 extends Theorems 2.2 and 3.2 of [5] and Theorem 3.4 of [7]. Theorem 4.1 contains also the results due to Browder [1], Browder and Petryshyn [2], and Karlovitz [10], respectively, as particular cases.

**ACKNOWLEDGEMENT.** The second author was supported by grant No. 2001-1-10100-005-2 from the Basic Research Program of the Korea Science and Engineering Foundation.

## REFERENCES

- F. E. Browder, Fixed-point theorems for noncompact mappings in Hilbert space, Proc. Nat. Acad. Sci. U.S.A. 53 (1965), 1272–1276. MR 31#2582. Zbl 125.35801.
- [2] F. E. Browder and W. V. Petryshyn, Construction of fixed points of nonlinear mappings in Hilbert space, J. Math. Anal. Appl. 20 (1967), 197–228. MR 36#747. Zbl 153.45701.
- S. S. Chang, Fixed point theorems for single-valued and multi-valued mappings in non-Archimedean Menger probabilistic metric spaces, Math. Japon. 35 (1990), no. 5, 875-885. MR 91m:54058. Zbl 711.54033.
- [4] S. S. Chang, N. J. Huang, and Y. J. Cho, *Coincidence and fixed point theorems*, Bull. Honam Math. Soc. 12 (1995), 153–161.
- T. Husain and A. Latif, *Fixed points of multivalued nonexpansive maps*, Math. Japon. 33 (1988), no. 3, 385-391. MR 89i:47107. Zbl 667.47028.
- [6] \_\_\_\_\_, f-nonexpansive type maps and fixed points, Math. Japon. 36 (1991), no. 6, 1053–1061. CMP 1 139 723. Zbl 755.54020.
- [7] \_\_\_\_\_, Fixed points of multivalued nonexpansive maps, Int. J. Math. Math. Sci. 14 (1991), no. 3, 421-430. MR 92k:54056. Zbl 736.54030.
- [8] T. Husain and E. Tarafdar, Fixed point theorems for multivalued mappings of nonexpansive type, Yokohama Math. J. 28 (1980), no. 1-2, 1-6. MR 82m:47039. Zbl 456.47047.
- H. Kaneko and S. Sessa, Fixed point theorems for compatible multi-valued and singlevalued mappings, Int. J. Math. Math. Sci. 12 (1989), no. 2, 257–262. MR 90i:54097. Zbl 671.54023.
- [10] L. A. Karlovitz, On nonexpansive mappings, Proc. Amer. Math. Soc. 55 (1976), no. 2, 321-325. MR 53#8976. Zbl 328.47033.
- [11] E. Lami Dozo, Multivalued nonexpansive mappings and Opial's condition, Proc. Amer. Math. Soc. 38 (1973), 286–292. MR 46#9816. Zbl 268.47060.

ZEQING LIU: DEPARTMENT OF MATHEMATICS, LIAONING NORMAL UNIVERSITY, DALIAN, LIAONING 116029, CHINA

JEONG SHEOK UME: DEPARTMENT OF APPLIED MATHEMATICS, CHANGWON NATIONAL UNIVER-SITY, CHANGWON 641-773, KOREA

E-mail address: jsume@sarim.changwon.ac.kr

MOHAMMAD S. KHAN: DEPARTMENT OF MATHEMATICS AND STATISTICS, COLLEGE OF SCIENCE, SULTAN QABOOS UNIVERSITY, AL-KHOUD, MUSCAT 123, OMAN *E-mail address*: mohammad@squ.edu.om